

Personal Protective Equipment (PPE)







Face Mask

Mask #1

Qty.	PPI	*Estimated Total
250	\$8.50	\$2,125.00
2,500	\$8.50	\$21,250.00

Mask #2

Qty.	PPI	*Estimated Total
250-500	\$9.00	\$2,250-\$4,500
501-2,500	\$8.50	\$4,258.50-\$21,250.00
+2,500	\$8.00	+\$20,000.00

Mask #1: Single layer mask

- -100% cotton or 30 singles
- -Screen printed custom logo
- -One size fits most
- -Washable and reusable mask
- -Covers nose and mouth

Dimensions:

-6.9"(flat) x 5" (flat) x 7" (flat) with strap

Specifications:

Mask #2: Double layer mask

- -100% Cotton
- -Second layer made from polyester/ cellulose fabric
- -Mask covers nose, chin and mouth
- -More secure fit
- -One size fits most

Dimensions:

-3.2 "Height (flat) x 7.5 " width (flat) x 10" (flat) with strap

Personal Protective Equipment (PPE)







Face Shield

Blank

Case: 200 Pieces

Qty.	PPI	*Estimated Total
50	\$11.70	\$585.00
100	\$11.00	\$1,100.00
250	\$10.87	\$2,717.50
500	\$9.93	\$4,965.00

Branded

Case: 200 Pieces

Qty.	PPI	*Estimated Total
50	\$16.28	\$814.00
100	\$14.12	\$1,412.00
250	\$12.84	\$3,210.00
500	\$11.39	\$5,695.00

Cost:

-Bulk and per piece pricing available

Specifications:

- -Dimensions. 10x11.
- -Foam 3/4 inch thick.
- -Goods are shipped from Los Angeles, Calfornia.
- -Material: PET Polyethylene Terephthalate.

- -Anti fog
- -FDA approved
- -Made in China
- -FOB ships for California
- -Production time:

Blank 2-3 business days while supplies last.

-Sticker logo- 6 business days while supplies last.

Private label capabilities available.

Usage:

- -Disposable.
- -Front line defenders (high risk) 1 time use.
- -General population 5-7 days each.
- -Can wipe down with eye lenses cleaner.



Contact:
Jasmine Williams
jw@wbi.me